RESOLUTION NO. 31-64 CITY OF CENTERVILLE, OHIO

| SPONSORED BY COUNCILMEMBE | R. Dougla | C. Cline | ON THE 20th |
|-----------------------------|-----------|----------|-------------|
| DAY OF <u>September</u> , 2 | 2004. | | |
| | | | |

A RESOLUTION ACCEPTING THE BID SUBMITTED BY THE RA MILLER CONSTRUCTION COMPANY, FOR THE APD PARKING AND SITE IMPROVEMENT PROJECT - 2004, IN THE CITY OF CENTERVILLE AND TO AUTHORIZE THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville advertised for bidders for the APD Parking and Site Improvement Project - 2004, in the City of Centerville according to specifications prepared by the City, and

WHEREAS, the RA Miller Construction Company, was the low and best bidder.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the bid submitted by the RA Miller Construction Company, for the APD Parking and Site Improvement Project - 2004, marked as exhibit "A" attached hereto and made a part hereof be and is hereby accepted in the amount of \$288,709.00 and the City Manager is hereby authorized and directed to enter into any necessary contract to evidence acceptance of said bid and to make payment pursuant thereto.

PASSED this 20th day of September , 2004.

Mayor of the City of Centerville, Ohio

ATTEST:

Clerk of Council, City of Centerville, Ohio

CERTIFICATE

The undersigned, Clerk of the Council of the City of Centerville, Ohio hereby certifies that the foregoing is a true and correct copy of Resolution Number 3/-04 passed by the Council of the City of Centerville, Ohio on the 20th day of September , 2004.

Clerk of Council

Approved as to form, consistency with existing Ordinances, the Charter and Constitutional Provisions.

Department of Law Scott A Liberman Municipal Attorney

BIDDER'S PROPOSAL

APD Parking and Site Improvement Project-2004

Submitted by:

Having read the specifications and examined the drawings included herein:

APD Parking and Site Improvement Project-2004 City of Centerville, Ohio

for the construction of said project in Centerville, Ohio, and having also taken into account all addenda issued, the undersigned hereby propose to furnish all materials and to perform all labor, as specified and described in the said Specifications and as shown in the Plans for the said work, for the following sums:

| A. | STATEMENT BY ALL BIDDERS: |
|---|---|
| | The receipt of the following Addenda to the Contract Document (drawings and specifications) is hereafter acknowledged. |
| | Addenda No Date |
| | Addenda No Date |
| В. | COMPLETION DATE INFORMATION |
| | The bid price reflected above represents a final completion date of January 1, 2005 Phase 1 and a final completion date (Phase 1 + Phase 2) of May 1, 2005. |
| C. | CONTRACT PREPARATION INFORMATION |
| | The bidder shall supplement proposal by supplying the following information for use in the |
| | preparation of the Contract. |
| Carefolde do 2005 - Region | 4002 Cheviot Roau |
| COMPANY AND | OF COMPANY/CORPORATION: Cincinneti Ohio 45247 |
| NAME | OF PRESIDENT: KODYTH. MILLER J. KHANHA VPICES |
| ADDR | ESS: |
| CITY, | STATE, ZIP |
| FEDE | RAL TAX I.D. #: 31-0977450 |
| TELER | PHONE #: 513 896-504 |
| | : 513 896 7/6/ |

| UNI | IT PRI | CE SHEET | | - | PRO | DJECT NUMBEI |
|------------|-------------|---|----------------------|------------|--------------------|---------------|
| PRO | OJECT | NAME: APD PARKING AND SITE IMPRO | OVEMENT PRO | JECT-20 | 004 | |
| THE | CITY OF | ENTERVILLE MATERIAL AND CONSTRUCTION SPECIFIC. | ATIONS ARE PART OF | THIS PROP | DSAL AND MAY BE RE | FERENCED |
| | | OMPLETE DESCRIPTION OF THE ITEMS LISTED. RETURN ITH THE EXECUTED FORMS. | ONE (I) FILLED-IN CO | OPY OF PRO | PERLY SIGNED PROPO | DSAL |
| REF NO. | . SPEC. | DESCRIPTION | EST'L QUAN | T. UNITS | UNIT PRICE | AMOUNT BID |
| 1 | 201 | Clearing and Grubbing (trees under 12" in dia) | Lump | Lump | 2500.00 | 2500.00 |
| IA_ | 201 | Tree Removed (trees over 12" in dia) | 3 | EACH | 400.00 | 1 200.00 |
| 2 | 202 | Pavement Removed and Disposed-Asphalt | 3780 | SY | 4.00 | 15120.00 |
| 2A | 202 | Pavement Removed and Disposed-Concrete | 230 | SY | 10.00 | 23 00. 0 |
| 2B | 202 | Concrete Foundation Removed and Disposed | 66 | L.F. | 20 2 | 1320.0 |
| 2C | 202 | Miscellaneous Removals | Lump | Lump | 1500.00 | 1500.0 |
| 3 | Special | Brick Walk Removed | 310 | SF | 2.00 | 620.0 |
| 4 | 254 | Pavement Planing | 110 | SY | 12* | 132a. |
| | ar water ty | | | | + | |
| 5 | 203 | Excavation and Embankment | 2500 | CY . | 12 - | 30 000 .0 |
| 5B | 203 | Compacted Subgrade | 3660 | SY | 1. 12 | 3660.0 |
| 6 | 207 | Silt Fence | 600 | L.F. | 2.00 | 1200 . |
| 6A | 207 | Inlet Protection | .7 | EACH | 100.0. | 700.0 |
| 6B | 207 | Temp. Riser w/filter fabric & stone | .2 | EACH | 250.4 | 500. |
| 7 | 203 | Undercutting | 100 | CY | 25.00 | 2500. |
| 8 | 304 | Aggregate Base, 10" | 1067 - | CY | 30 00 | 32010.1 |
| , | 402 | Asphalt Concrete, Leveling Course, 1.5" | 160 | CY | 110.00 | 17600 . |
| 10 | 404 | Asphalt Concrete, Surface Course, 1.5" | 260 | CY | 110.2 | 28600. |
| 11 | 407 | Tack Coat @ 0.1 gal / sy | 526 | GAL | 1 - | 526 0 |
| 12 | 451 | 8" Concrete Pavement for Dumpster Pad | 60 | SY | 552 | 3300.0 |
| 13 | 452 | Concrete Channel, 6" Thick | 31 | SF | 15-3 | 465.0 |
| 3A | 452 | Concrete Drive Approach, 8" Thick | 660 | SF | 62 | 3960. 0 |
| 4 | 608 | Concrete Walk, 4" Thick | 4147 | SF | 42 | 16288. |
| 5 | 609 | Concrete Curb, ODOT Type 6 | 2500 | LF | 12.00 | 30 000.0 |
| 6 | 641 | Pavement Marking | Lump | Lump | 1000,0 | 1000-0 |
| 7 | 659 | Seeding and Mulching | 4900 | SY | 1: | 4900. |
| 8 | 690 | Concrete Parking Blocks, pinned | 6 | EACH | 50 | 300 ⋅ ₩ |
| | - | | 29a | | | |

| REF. | SPEC. | DESCRIPTION | EST'D | INTE | UNIT | I BID |
|------|---------|--|-------|-----------|--|--------------|
| NO. | NO. | DESCRIPTION | QUANT | | 65.00 | 3-4-5 |
| 19 | 603 | 8" DI Storm w/granular backfili | 43 | LF | | t -: |
| 194 | 603 | :12" Storm w/granular backfill | 297 | LF | 55.00 | 16335. |
| 198 | 603 | 8" Roof Drain | 460 | LF | 10.00 | 4600.0 |
| 19C | 603 | 8" Starm Sewer | 30 | LF | 42.00 | 1260.0 |
| 19D | 603 | 12" Slot Drain, "Dura-Slot" (or equiv). | 72 | LF | 90 2 | 6480. |
| 20 | 1604 | Catch Basin, ODOT 2-2b | 4 | EACH | 950= | 3800 |
| 20A | 604 | Yard Drain | 3 | EACH | 250 : | 750.0 |
| 20B | 604 | Connect to Existing, Storm | 3 | EACH | 550.0 | 1650. |
| 20¢ | 604 | Manhole/Cleanout, Adjusted to Grade | 3 | EACH | 200:4 | 600. |
| 20D | 604 | ! Иtadwall, 8" | 2 | EACH | 1550.00 | 3100. |
| 21 | Special | Water main Valves Adjusted to Grade | 2 | EACH | 150.00 | |
| 22 | Special | StormTech SC-740 Chambers w/stone | Lump | Lunip | 9600 | 9600 . |
| 23 | 638 | Remove ex water service, main in parking lot | 2 | EACH | 750.0 | 1500. |
| 23A | 638 | Remove ex water service, main in street | 1 | EACH | 950 | 950. |
| 24 | 653 | Topsoil Furnished and Placed, 4-in | 160 | CY | 30. 4 | 4800.0 |
| 25 | Special | 1.5" Water Service complete (per Mont. Co. Standards) | 11 | EACH | 2500,00 | 2500.6 |
| 26 | i ' | 6" Sanitary Luteral complete (per Mont. Co. Standards) | 1 | EACH | 3500.1 | 3500 . 0 |
| | Special | Santasy Lateral complete (per Mont. Co. Standards) | 1 | EACH | 3,500.1 | 3,000 |
| 27 | C_valut | All Conduit Yardining and an a Resident | 500 | | 12 4 | Cono |
| | | 4" Conduit Installation, incl exc. & backfill | 500 | LF . | 16- | 8000. |
| !7A | | 2" Conduit Installation, incl exc. & backfill | 500 | <u>LF</u> | 13 4 | 6500.0 |
| 8 | Special | Pull Boxes, Highline Products #10151B2B | 15 | EACH | 400 | 6000.0 |
| | | GRAND TOTAL BASE BID | | | | |
| | ен) . | | | | | 288709 |
| LTE | RNATE N | 0.1 | | | | |
| 9 | 301 | Asphalt Concrete Base, 5" (substituted for Item 304 above) | 534 | CY | 853 | 45390.0 |
| | | ALTERNATE NO. 1 | | | | |
| | | | | | | |
| | | PHASE | | | PHASE I & PHASE 2 | OT/ PROJECT) |
| | | NUMBER OF WORKING DAYS TO | | | NUMBER OF WORKING D., 'S TO COMPLETION FROM DATE OF NOTICE TO PROCEED: | |
| | | COMPLETION FROM DATE OF NOTICE | | | | |
| 0.0 | | TO PROCEED: | | | | |
| | | BIIT NO LATER THAN | | | (BUT NO LATER THAT | |
| | | | | | | |
| | i | | | | 1 | |

NOTE: Failure to sign proposal shall result in rejection of bid. THIS PROPOSAL SUBMITTED BY: RA Miller Construction Co. Inc. 3992 Chevior Road ONTRACTOR) Cincinnati, Onto 4524 BY: (SIGNATURE OF CONTRACTOR OR AUTHORIZED REPRESENTATIVE) DATE: Contact person for Contract processing: (AHANA VI Mailing address if different from above:

D.

EXECUTION OF PROPOSAL